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TNPSC Group IV 
 

1. Cancer of the epithelial cells is called 
a. leukemia   b. sarcoma   c. carcinoma 

d. lepoma    e. Answer not known  
 vgpjPypay; nry;ypy; Gw;WNeha; cUthtjw;F _______ vd;W ngah;. 
 a. Y}f;Nfhkpah   b. rhh;f;Nfhkh   c. fhh;rpNdhkh 
 d. ypg;Nghkh   e. tpil njhpatpy;iy 
 

2. Match the following:  
  National Parks   States  
 A. Gir National Park   1. Rajasthan  
 B. Corbet National Park   2. Jharkhand  
 C. Rajkir National Park   3. Gujarat  
 D. Ranthambore National Park 4. Uttarakhand  

A B C D 
 a. 3 4 1 2  
 b. 4 3 2 1 
 c. 3 4 2 1  
 d. 3 2 1 4 
 e. Answer not known   
 nghUj;Jf:  
  Njrpa G+q;fh   khepyk;  
 A. fph; Njrpag; G+q;fh  1. ,uh[];jhd;  
 B. fhh;ngl; Njrpag; G+q;fh  2. [hh;fz;l;  
 C. ,uh[;fph; Njrpag; G+q;fh  3. F[uhj;  
 D. ,ue;jk;G+h; Njrpag; G+q;fh 4. cj;jufhz;l;  
  A B C D 
 a. 3 4 1 2  
 b. 4 3 2 1 
 c. 3 4 2 1  
 d. 3 2 1 4  
 e. tpil njhpatpy;iy  
 

3. Arrange the following events in the chronological order: 
1. death of pulithevar 
2. death of kuyili 
3. death of kattabomman  
4. death of maruthu brothers 

 a. 2, 3, 1, 4   b. 1, 2, 3, 4   c. 1, 3, 2, 4 
 d. 3, 1, 4, 2   e. Answer not known 
 fPNo nfhLf;fg;gl;Ls;s epfo;Tfis fhythpirg;gLj;Jf. 
 1. Gypj;Njthpd; ,wg;G 
 2. Fapypapd; ,wg;G 
 3. fl;lg;nghk;kdpd; ,wg;G 
 4. kUJrNfhjuh;fspd; ,wg;G 
 a. 2, 3, 1, 4   b. 1, 2, 3, 4   c. 1, 3, 2, 4 
 d. 3, 1, 4, 2   e. tpil njhpatpy;iy 
 

4. Who was the First women Doctor in Tamil Nadu?  
 a. Moovalur Ramamirdham    b. Muthulakshmi Reddy  

 c. Dharmambal     d. Pandithar Ramabai 
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e. Answer not known 
jkpo;ehl;bd; Kjy; ngz; kUj;Jth; ahh;?  

 a. %tY}h; uhkhkph;jk;    b. Kj;Jnyl;Rkp nul;b 
 c. jh;khk;ghs;     d. gz;bjh; uhkhgha;  
 e. tpil njhpatpy;iy  
 

5. Match the following: 
A. first five year plan  1. Economic stability 
B. second five year plan   2. Growth with stability 
C. third five year plan  3. Problems of refugees, food shortage and inflation 
D. fourth five year plan  4. Self-generating economy 

A B C D 
 a.  1 2 3 4 
 b.  4 1 2 3 
 c.  3 1 2 4 
 d.  1 3 4 2 
 e. Answer not known 
 gpd;tUtdtw;iwg; nghUj;Jf. 
 A. Kjy; Ie;jhz;L jpl;lk;  1. nghUshjhu epiyj;jd;ik 
 B. ,uz;lhtJ Ie;jhz;L jpl;lk; 2. epiyj;jd;ikAld; $ba tsh;r;rp 

C. %d;whtJ Ie;jhz;L jpl;lk; 3. mfjpfs;> czT gw;whf;Fiw kw;Wk; gztPf;f 
rpf;fy;fs;  

D. ehd;fhtJ Ie;jhz;L jpl;lk; 4. Ra cUthf;fg; nghUshjhuk; 
A B C D 

 a.  1 2 3 4 
 b.  4 1 2 3 
 c.  3 1 2 4 
 d.  1 3 4 2 

e. tpil njhpatpy;iy 
 

6. If H.C.F of p and q is x and q = xy, find the L.C.M of p and q form the following 
a. pq  b. qy  c. xy  d. py  e. Answer not known 
p kw;Wk; q-d; kPg;ngU nghJ tFj;jp x kw;Wk; q = xy vdpy;> p kw;Wk; q-d; kPr;rpW 
nghJ klq;if fPNoAs;stw;wpypUe;J fhz;f. 
a. pq  b. qy  c. xy  d. py  e. tpil njhpatpy;iy 

 
7. The length of a rectangle is (3x +2) units and its breadth is (3x -2) units. Find its area. 

(x = 20 units) 
a. 3596 sq. units  b. 3956 sq. units  c. 4256 sq. units 
d. 5356 sq. units  e. Answer not known 
xU nrt;tfj;jpd; ePsk; (3x + 2) myFfs; kw;Wk; mjd; mfyk; (3x – 2) myFfs; 
vdpy; mjd; gug;gsitf; fhz;f. (x = 20 myFfs;) 

 a. 3596 r. myFfs;  b. 3956 r. myFfs;  c. 4256 r. myFfs; 
d. 5356 r. myFfs;  e. tpil njhpatpy;iy 

 
8. If 18, a, b, -3 are in arithmetic progress, then what is the value of (a + b)? 

a. 7  b. 11  c. 15  d. 21  e. Answer not known  
18, a, b, -3 ,it $l;Lj;njhlh; thpirapy; cs;sJ vdpy; (a + b)-apd; kjpg;Gf; fhz;f. 
a. 7  b. 11  c. 15  d. 21  e. tpil njhpatpy;iy 
 

9. A person saved money every year, half as much as he could in the previous year. If he 
had saved totally Rs. 7, 875 in 6 years then how much did he save in the first year? 
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a. Rs. 3,000   b. Rs. 4,000   c. Rs. 4,500 
d. Rs. 5,000   d. Answer not known 
xU egh; xt;nthU Mz;Lk; mjw;F Ke;ija Mz;L Nrkpj;j njhifapy; ghjpia 
Nrkpf;fwhh;. 6 Mz;Lfspy; mth; Rs. 7> 875-Ir; Nrkpf;fpwhh; vdpy; Kjy; Mz;L Nrkpg;G 
a. Rs. 3,000   b. Rs. 4,000   c. Rs. 4,500 
d. Rs. 5,000   e. tpil njhpatpy;iy 
 

10. Under the duties of the father; what is the duty of the father to the son – as found in 
the Kural. 
“Thanthai magarkaatrum nandri” -? 
a. Avaiyil Munthi irukka Seyal    
b. Selvathil Munthirukka Seyal 
c. Kudiperumaiyil Munthiyirukka Seyal   
d. Nermaiyil Munthi irukka Seyal 
e. Answer not known 
“je;ij kfw;fhw;Wk; ed;wp” 
vd;Dk; jpUf;Fwspd; gb je;ij kfDf;Fr; nra;Ak; ed;wp vJ? 
a. mitapy; Ke;jpapUf;fr; nra;jy; 
b. nry;tj;jpy; Ke;jpapUf;fr; nra;jy; 
c. Fbg;ngUikapy; Ke;jpapUf;fr; nra;jy; 
d. Neh;ikapy; Ke;jpapUf;fr; nra;jy; 
e. tpil njhpatpy;iy 
 

11. The first surveyor of the archaeological survey of indie (ASI) was  
a. Charles Mason  b. Alexander Burnes c. Alexander Cunningham 
d. Sir John Marshal   e. Answer not known 

 ,e;jpaj; njhy;ypay; Ma;Tj; Jiwapd; Kjy; Ma;thsh; 
 a. rhh;y]; Nkrd;  b. mnyf;rhz;lh; ghd;]; c. mnyf;rhz;lh; fd;dpq;`hk; 

d. rh; [hd; khh;~y;  e. tpil njhpatpy;iy 
   
12. Match the awards with recognition:  
  Award     Recognition  
 A. Perumthalaivar Kamarajar award  1. Increase enrolment in school 

B. Puthumai Palli Award   2. Award for top performers 
C. Kanavu Asiriyar Award  3. Improve socio economically marginalised 

       student  
D. Radhakrishnan Award    4. Service of the best teacher 
 A B C D 
a. 4 3 1 2  
b. 2 3 1 4  
c. 1 2 4 3  
d. 3 4 2 1 
e. Answer not known  
tpUJfs; kw;Wk; mq;fPfhuj;ijg; nghUj;Jf:  

  tpUJfs;     mq;fPfhuk;  
A. ngUe;jiyth; fhkuhrh; tpUJ  1. gs;spr; Nrh;f;ifia mjpfhpj;jy; 

 B. GJikg; gs;sp tpUJ    2. rpwe;j nray;ghl;bw;fhd tpUJ 
 C. fdT Mrphpah; tpUJ    3. r%f> nghUshjhu uPjpahf gpd;jq;fpa 
         khzth;fis Nkk;gLj;Jjy;  

D. uhjh fpU~;zd; tpUJ   4. Mrphpag; gzpapy; rpwe;J tpsq;Fjy; 
A B C D 

a. 4 3 1 2  
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b. 2 3 1 4  
c. 1 2 4 3  
d. 3 4 2 1 
e. tpil njhpatpy;iy 
 

13. Choose the correct pairs: 
1. Ondiveeran   - Maruthu Brothers 
2. Gopala Nayakar   - Dindigul League  
3. Kuyili   - Pulithevar 
4. Muthu Vaduga Nathar  - Kalaiyaarkovil Battle 
a. 1 and 3 are correct b. 1 and 2 are correct c. 2 and 3 are correct 
d. 2 and 4 are correct e. Answer not known 
rhpahd ,izfisj; Njh;T nra;f. 
1. xz;btPud;   - kUJ rNfhjuh;fs; 
2. Nfhghy ehaf;fh;  - jpz;Lf;fy; $l;likg;G 
3. Fapyp   - Gypj;Njth; 
4. Kj;JtLfehjh;  - fhisahh; Nfhapy; Nghh; 
a. 1 kw;Wk; 3 rhp  b. 1 kw;Wk; 2 rhp  c. 2 kw;Wk; 3 rhp 
d. 2 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 
 

14. How does Valluvar compare the wealth of a wise man? 
a. tank brimming with water  b. ocean    c. river  
d. lake     e. Answer not known 
xUtDila nry;tk; rKjhaj;jpw;Fg; gad;gLtij ts;Sth; vjNdhL xg;gpLfpwhh;? 
a. CUzp   b. fly;   c. MW 
d. Vhp    e. tpil njhpatpy;iy 
 

15. Three rivers in peninsular India that runs from east to west are 
a. Mahanadi, Godavari and Krishna 
b. Krishna, Narmada and Tapti  
c. Narmada, Tapti and Mahi 
d. Mahi, Mahanadi and Godavari  
e. Answer not known 
jPgfw;g ,e;jpa MWfspy; fpof;fpy; ,Ue;J Nkw;F Nehf;fpg; ghAk; %d;W MWfs;  
a. kfhejp> Nfhjhthp kw;Wk; fpU~;zh 
b. fpU~;zh> eh;kij kw;Wk; jgjp 
c. eh;kij> jgjp kw;Wk; kh`p 
d. kh`p> kfhejp kw;Wk; kh`p 
e. tpil njhpatpy;iy 
  

16. Identify the correct pairing. 
a. Nucleoside - Nitrogen base + Phosphate  
b. Pyrimidines – Cytosine and sugar 
c. Purines – Adenine and Guanine 
d. Nucleotide – Nucleoside + sugar  
e. Answer not known 
rhpahd ,iziaf; fz;Lgpb. 
a. epa+f;spNahirL - iel;u[d; fhuk; + gh];Ngl; 
b. gphpkpbd;fs; - irl;Nlhrpd; kw;Wk; rh;f;fiu 
c. gpa+hpd;fs;  - mbidd; kw;Wk; Fthidd; 
d. epa+f;spNahilL - epa+f;dpNahirL + rh;f;fiu 
e. tpil njhpatpy;iy 
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17. Match the following: 

A. Sivasubramanianar 1. Kayathar Fort 
B. Kattabomman  2. Sangagiri Fort 
C. Marudhu Brothers  3. Nagalapuram 
D. Dheeran Chinnamalai 4. Thirupathur Fort  
 A B C D 
a.  3 1 4 2 
b.  3 4 1 2 
c.  3 1 2 4 
d.  4 1 3 2 
e. Answer not known 
nghUj;Jf: 
A. rptRg;ukzpadhh;  1. faj;jhW Nfhl;il 
B. fl;lnghk;kd;  2. rq;ffphp Nfhl;il 
C. kUJ rNfhjuh;fs; 3. ehfyhGuk; 
D. jPud; rpd;dkiy  4. jpUg;gj;J}h; Nfhl;il 
A B C D 
a.  3 1 4 2 
b.  3 4 1 2 
c.  3 1 2 4 
d.  4 1 3 2 
e. tpil njhpatpy;iy 
 

18. Match the correct classification of land during the Gupta period. 
A. Kshetra   1. Waste land 
B. Khila   2. Cultivable land 
C. Aprakata  3. Habitable land 
D. Vasti  4. Jungle land 
 A B C D 
a.  1 2 3 4 
b.  4 2 1 3 
c.  2 1 4 3 
d.  3 4 1 2 
e. Answer not known 
Fg;jh; fhyj;jpd; epyq;fis fPo;f;fz;ltw;Wld; rhpahf nghUj;jpLf. 
A. Nrj;uh  1. jhpR epyk; 
B. fpyh  2. Ntshz;ikf;F cfe;j epyk; 
C. mg;ufjh  3. FbapUg;gjw;F cfe;j epyk; 

D. t];jp  4. td epyk; 
A B C D 

a.  1 2 3 4 
b.  4 2 1 3 
c.  2 1 4 3 
d.  3 4 1 2 
e. tpil njhpatpy;iy 
 

19. How many triangles are there in the following figure: 
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a. 12  b. 13  c. 14  d. 15  e. Answer not known 
fPo;fz;l tiuglj;jpy; vj;jid Kf;Nfhzq;fs; cs;sd? 

 
a. 12  b. 13  c. 14  d. 15  e. tpil njhpatpy;iy 
 

20. Which number is in opposite plane of 3? 

 
a. 1  b. 4  c. 6  d. 5  e. Answer not known 
3-d; vjpuhd jsj;jpy; cs;s vz; vJ? 

 
a. 1  b. 4  c. 6  d. 5  e. tpil njhpatpy;iy 
 

21. How many times can you subtract 10 from 100? 
a. 1  b. 100  c. 10  d. 9  e. Answer not known 
100-ypUe;J 10-I cd;dhy; vj;jid Kiw fopf;f KbAk;? 
a. 1  b. 100  c. 10  d. 9  e. tpil njhpatpy;iy 
 

22. Mukesh can do 
2

7

th

of an work in one day. In how many days can he complete the same 

work? 

a. 
1

2
2

days  b. 
1

3
2

days  c. 
1

4
2

days   d. 
1

5
2

days 

e. Answer not known 
KNf~; xU ehspy; 2/7 gFjp Ntiyia nra;J Kbg;ghh; vdpy; vj;jid ehl;fspy; 
mt;Ntiyia KOikahf nra;J Kbg;ghh;? 

a. 
1

2
2
ehl;fs;   b. 

1
3

2
 ehl;fs;  c. 

1
4

2
 ehl;fs;   

d. 
1

5
2
 ehl;fs;  e. tpil njhpatpy;iy 

 
23. Match the following: 

A. The Consumer Protection Act   1. 1980 
B. The Legal Metrology Act   2. 1955 
C. The Essential Commodities Act   3. 2009 
D. The prevention of Black Marketing Act 4. 1986 
     A B C D 
a. 4 3 1 2  
b. 2 3 1 4  
c. 1 2 4 3 
d. 3 4 2 1 
e. Answer not known  

 fPo;f;fz;litfis Kiwahfg; nghUj;Jf:  
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 A. Efh;Nthh; ghJfhg;Gr; rl;lk;    1. 1980 
 B. rl;l mstpay; rl;lk;     2. 1955 
 C. mj;jpahtrpag; nghUl;fs; rl;lk;   3. 2009 
 D. fs;sr; re;ijg;gLj;Jjy; jLg;G rl;lk;  4. 1986 

  A B C D 
a. 4 3 1 2  
b. 2 3 1 4  
c. 1 2 4 3 
d. 3 4 2 1 
e. tpil njhpatpy;iy 
 

24. Which city is known as “Electronic Capital of India”? 
a. Hyderabad   b. Bengaluru    c. Chennai    
d. Delhi    e. Answer not known 
,e;jpahtpd; ‘kpd;dpay; jiyefuk;’ vd;W miof;fg;gLk; efuk; vJ? 
a. i`juhghj;  b. ngq;f@U   c. nrd;id  
d. nly;yp   e. tpil njhpatpy;iy 
 

25. Correctly match the component and its use in a circuit: 
Component   Use of the component 
A. Galvanometer  1. Used to fix the magnitude of the current through a circuit 
B. Voltmeter    2. Used to measure current  
C. Ammeter    3. Used to measure potential difference 
D. Resistor    4. Used to detect the current and its directions 
 A B C D 
a.  4 3 2 1 
b.  2 3 1 4 
c.  4 2 3 1 
d.  2 3 4 1 
e. Answer not known 
xU kpd;Rw;wpYs;s kpd;$Wfis mjd; gad;ghl;Lld; rhpahf nghUj;Jf. 
kpd;$W   kpd;$wpd; gad;ghL 
A. fhy;tNdh kPl;lh;  1. kpd;Rw;wpy; ghAk; kpd;Ndhl;lj;jpd; msit eph;zak;  

nra;a gad;gLfpwJ 
B. Nthy;l; kPl;lh;  2. kpd;Ndhl;lj;ij mstpl 
C. mk;kPl;lh;   3. kpd;dOj;j NtWghl;il mstpl 
D. kpd;jilahf;fp  4. kpd;Ndhl;lk; kw;Wk; mjd; jpiriaf; fz;lwpa 

A B C D 
a.  4 3 2 1 
b.  2 3 1 4 
c.  4 2 3 1 
d.  2 3 4 1 
e. tpil njhpatpy;iy 
 

26. What are the ornaments of a nation according to the sequence of Valluvar? 
1. Wealth  2. Joy  3. Defence  4. Health  5. Yield  
a. 4, 1, 5, 2, 3   b. 1, 2, 3, 4, 5   c. 4, 3, 5, 2, 1 
c. 1, 4, 3, 5, 2   e. Answer not known 
ehl;bw;F mzpfydhdtw;iw ts;Sth; ve;j thpirapy; je;Js;shh;? 
1. nry;tk; 2. ,d;gk; 3. Vkk; 4. gpzpapd;ik 5. tpisT 
a. 4, 1, 5, 2, 3   b. 1, 2, 3, 4, 5   c. 4, 3, 5, 2, 1 
c. 1, 4, 3, 5, 2   e. tpil njhpatpy;iy 
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27. Choose the right match: 

1. Taxes levied and collected by union but  - Art 269 
     Assigned to the state 
2. Duties levied by the union but collected - Art 268 
    and Appropriated by the state 
3. Tax levied and collected by the union but - Art 267 
     but which may be distributed between   
     union territory and states 
a. 1 only   b. 2 and 3 only  c. 1 and 2 only 
d. 1 and 3 only  e. Answer not known 
rhpahd ,iziaj; Njh;e;njL: 
1. kj;jpa murhy; tpjpf;fg;gl;L> t#ypf;fg;gl;L 

 khepyq;fSf;F xJf;ff; $ba tsq;fs;   - ~uj;J 269 
 2. kj;jpa murhy; tpjpf;fg;gl;L> Mdhy; khepy muR 
 t#ypg;gJ kw;Wk; gad;gLj;JtJ    - ~uj;J 268 

3. kj;jpa murhy; tpjpf;fg;gl;L> t#ypf;fg;gl;L 
khepyq;fs; kw;Wk; a+dpad; gpuNjrq;fSf;F  - ~uj;J 267 
gfph;e;jspf;ff;$ba thpfs;     

 a. 1 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 2 kl;Lk; 
 d. 1 kw;Wk; 3 kl;Lk; e. tpil njhpatpy;iy 
 
28. Find the odd one out. 

a. Illamchetchenni  b. Kochchenganan  c. Perum Cheral Irumporai 

d. Perunarkilli  e. Answer not known 
nghUe;jhjijf; fz;Lgpb. 
a. ,sQ;Nrl;nrd;dp  b. Nfhr;nrq;fzhd;  c. ngUQ;Nruy; ,Uk;nghiw 
d. ngUew;fps;sp  e. tpil njhpatpy;iy 
 

29. Which of the following statements are true about the post Sangam age? 
(i) Pathinen Keel kanakku texts, include eighteen texts which mostly deal with 

ethics and morel codes. 
(ii) The most important of these Thirukkural and Naladiyar. 
(iii) Silappathikaram and Manimekalai are the two texts deals with Cultural and 

Religious history. 
a. (i) only True  b. (ii) only True  c. (i), (ii) only True 

d. (i), (iii) only True  e. Answer not known 
fPo;fz;l thf;fpaq;fspy; rq;f kUtpa fhyj;jpd; rhpahd $w;W vJ? 
(i). gjpndl;L E}y;fis cs;slf;fpa gjpndz;fPo;f;fzf;F E}y;fs; ngUk;ghYk; xOf;f 
newpKiwfisg; gw;wp $WfpwJ. 
(ii). mtw;Ws; jpUf;FwSk;> ehybahUk; Kjd;ikahdjhFk;. 
(iii). rpyg;gjpfhuKk;> kzpNkfiyAk; gz;ghL kw;Wk; rkaj;ij gw;wp $Wfpd;wd. 
a. (i) kl;Lk; rhp  b. (ii) kl;Lk; rhp  c. (i)> (ii) kl;Lk; rhp 
d. (i)> (iii) kl;Lk; rhp e. tpil njhpatpy;iy 
 

30. Arrange the following Newspaper’s and Journals of Thanthai Periyar in Chronological 
order.  
1. Paguththnrivu  
2. Viduthalai  
3. Kudiarasu  
4. Puratchi 
a. 4, 2, 3, 1   b. 3, 4, 1, 2   c. 3, 2, 4. 1    
d. 2, 3, 1, 4   e. Answer not known 
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fPo;f;fz;tw;Ws; je;ij nghpahhpd; nra;jpj;jhs;fisAk;>  ,jo;fisAk; fhy Kiwg;gb 
thpirg;gLj;Jf. 
1. gFj;jwpT  
2. tpLjiy  
3. FbauR 
4. Gul;rp  
a. 4, 2, 3, 1   b. 3, 4, 1, 2   c. 3, 2, 4. 1    
d. 2, 3, 1, 4   e. tpil njhpatpy;iy  
 

31. Assertion (A) : The Indian heritage advocates hospitality, charity, friendship, love, 
respect for parents and elders and tolerance. 
Reason (R) : All these help the people to live in unity. 
a. Both (A) and (R) are true (R) is the correct explanation of (A)  
b. Both (A) and (R) are true (R) is not the correct explanation of (A)  
c. (A) is true but (R) is false 
d. (A) is false but (R) is true Answer not known 
e. Answer not known 
$w;W: ,e;jpa ghuk;ghpak; vd;gJ tpUe;Njhk;gy;> <if> el;G> md;G> ngw;NwhiuAk; kw;Wk; 
nghpath;fisAk; kjpj;jy; kw;Wk; rfpg;Gj; jd;ikia typAWj;JtjhFk;.  
fhuzk;: Nkw;$wpa gz;Gfs; Ntw;Wikfis kwe;J kf;fs; xw;WikAld; tho 
cjTfpd;wd.  
a. $w;Wk; fhuzKk; rhp> fhuzk; $w;Wf;fhd rhpahd tpsf;fk;  
b. $w;Wk; fhuzKk; rhp. fhuzk; $w;Wf;fhd rhpahd tpsf;fk; my;y  
c. $w;Wk; rhp> fhuzk; jtW  
d. $w;W jtW> fhuzk; rhp  
e. tpil njhpatpy;iy  
 

32. The birth rate is estimated in terms of  
(i) Number of births per one hundred population in a given year. 
(ii) Number of births per one lakh population in a given year. 
(iii) Number of births per one thousand population in ten years. 
(iv) Number of births per one thousand population in a given year. 
a. (i) only   b. (ii) only   c. (iii) only 
c. (iv) only   e. Answer not known 
gpwg;G tpfpjk; ,jd; mbg;gilapy; kjpg;gplg;gLfpwJ. 
(i). xU Fwpg;gpl;l Mz;by; E}W kf;fs; njhifapy; gpwe;jth;fspd; vz;zpf;if 
(ii). xU Fwpg;gpl;l Mz;by; xU ,yl;r kf;fs; njhifapy; gpwe;jth;fspd; vz;zpf;if 
(iii). gj;J Mz;Lfspy; Mapuk; kf;fs; njhifapy; gpwe;jth;fspd; vz;zpf;if. 
(iv). xU Fwpg;gpl;l Mz;by; Mapuk; kf;fs; njhifapy; gpwe;jth;fspd; vz;zpf;if 
a. (i) kl;Lk;   b. (ii) kl;Lk;   c. (iii) kl;Lk; 
d. (iv) kl;Lk;   e. tpil njhpatpy;iy 
 

33. If the difference between C.I. and S. I. on some principal at 15% p.a. for 3 years is 
₹1,134. Then the principal is 
a. ₹ 16,000   b. ₹ 15,000   c. ₹ 14,000 
d. ₹ 20,000   e. Answer not known 
15% Mz;L tl;bapy; 3 Mz;LfSf;Ff; fpilf;Fk; $l;L tl;bf;Fk;> jdp tl;bf;Fk; 
,ilNaAs;s tpj;jpahrk; Rs. 1>134 vdpy; mjd; mry; 
a. ₹ 16,000   b. ₹ 15,000   c. ₹ 14,000 
d. ₹ 20,000   e. tpil njhpatpy;iy 
  

34. 4 P + S r 9 B # A 3 ? 7 c > Z % 6 d * Q @ 1 
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If the first half of the series is written in reverse order, then which element will be 
fourteenth from the right end? 
a. >  b. A  c. Z  d. +  e. Answer not known 
nfhLf;fg;gl;l njhlhpd; Kjy; ghjpia gpd;Ndhf;F thpirapy; vOjpdhy; tUk; njhlhpd; 
tyJgf;fj;jpypUe;J 14-tjhf mikAk; cWg;gpidf; fhz;f. 
a. >  b. A  c. Z  d. +  e. tpil njhpatpy;iy 
 

35. 10 farmers will plough the land in 21 days. In how many days 14 farmers will plough 
the same land? 
a. 14 days   b. 15 days   c. 16 days 
d. 17 days   e. Answer not known 
10 tptrhapfs; 21 ehl;fspy; xU epyj;ij cOJ Kbf;fpd;wdh; vdpy; mNj epyj;ij 
14 tptrhapfs; vj;jid ehl;fspy; cOJ Kbg;gh;? 
a. 14 ehl;fs;   b. 15 ehl;fs;   c. 16 ehl;fs; 
d. 17 ehl;fs;   e. tpil njhpatpy;iy 
 

36. Which among the following is/are correct about the Judiciary in India? 
(i) India has borrowed the concept of Judicial Review from the USA. 
(ii) Both the federal and State laws can be subjected to Judicial Review by the 

Supreme Court. 
(iii) The Constitution Article 13B saves the Acts from Judicial Review. 
a. (i) and (ii) only  b. (i) and (iii) only  c. (ii) and (iii) only 
d. (i), (ii) and (iii)  e. Answer not known 
,e;jpahtpy; ePjpg;Gduha;T gw;wpa fPo;fhz;gtw;Ws; vJ/vit rhpahdit? 
(i). ,e;jpah ePjpg;Gduha;T vd;w fUj;JUit mnkhpf;fhtpypUe;J ngw;wJ. 
(ii). xd;wpa kw;Wk; khepy rl;lq;fs; ,uz;Lk; cr;r ePjpkd;wj;jpd; ePjpg;Gduha;Tf;Fl;gLk;. 
(iii). murpayikg;G rl;lg;gphpT 13B ePjpj;Jiw kW Ma;T nra;tij jLf;fpwJ. 
a. (i) kw;Wk; (ii) kl;Lk;  b. (i) kw;Wk; (iii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  d. (i)> (ii) kw;Wk; (iii) 
e. tpil njhpatpy;iy 
 

37. Which one of the following Articles empower the Supreme Court and High Courts to 
issue writs? 
a. Article 23 and Article 226   b. Article 32 and Article 228 
c. Article 226 and Article 36   d. Article 32 and Article 226 
e. Answer not known 
gpd;tUk; rl;lg; gphpTfspy; ve;jr; rl;lg;gphpT cah;ePjpkd;wj;jpw;Fg; Nguhizfisg; 
gpwg;gpf;f mjpfhuk; mspf;fpd;wJ? 
a. rl;lg;gphpT 23 kw;Wk; 226  b. rl;lg;gphpT 32 kw;Wk; 228 
c. rl;lg;gphpT 226 kw;Wk; 36   d. rl;lg;gphpT 32 kw;Wk; 226 
e. tpil njhpatpy;iy 
 

38. Pick out the correct statements: 
Statement 1: The delta of the Ganga Brahmaputra has the largest tidal forest. 
Statement 2: Tidal Forest are also known as mangrove forest. 
a. Both statements are true  b. Both statements are false 
c. Statement 1 is true 2 is false  d. Statement 1 is false 2 is true 
e. Answer not known 
rhpahd thf;fpaj;ijj; Njh;e;njLf;fTk;: 
thf;fpak; 1: fq;if-gpuk;kGj;jpuh nly;lh gFjpfspy; kpfg;nghpa rJg;G epyf;fhLfs; 
cs;sd. 
thf;fpak; 2: miyahj;jpf; fhLfs; “khq;FNuht;” fhLfs; vd;W miof;fg;gLfpd;wd. 
a. ,uz;L thf;fpaq;fSk; rhp  b. ,uz;L thf;fpaq;fSk; jtW 
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c. thf;fpak; 1 rhp> 2 jtW   d. thf;fpak; 1 jtW> 2 rhp 
e. tpil njhpatpy;iy 
 

39. National Panchayat Raj Day is observed on  
 a. 24th December   b. 24th August    c. 24 April    
 d. 24 September   e. Answer not known 
 Njrpa Cuhl;rp ehs; __________ MFk;.  
 a. brk;gh; 24   b. Mf];l; 24   c. Vg;uy; 24   
 d. nrg;lk;gh; 24   e. tpil njhpatpy;iy  

 
40. True righteous/virtuous life consists in the avoidance of four things, what are they? 

a. Jealousy, Ambitiousness, Anger, Unwanted Abusive Words. 
b. Aram, Porul, Inbam, Veedu 
c. Enjoy, Sound, Laugh, Peace 
d. Lust, Anger, Doubt and Action 
e. Answer not known 
“,Of;fh ,ad;wJ mwk;”- vit? 
a. mOf;fhW> mth> ntFsp> ,d;dhr;nrhy; 
b. mwk;> nghUs;> ,d;gk;> tPL 
c. kfpo;r;rp> rj;jkpLjy;> rphpj;jy;> mikjp 
d. fhkk;> rj;jkpLjy;> rphpj;jy;> mikjp 
e. tpil njhpatpy;iy 
 

41. Which of the following statements are true? 
(i) CDRI – Central Drug Research Institute has developed an indigenous RT – PCR 

diagnostic kit “Om” for testing the Omicron Variant of Corona Virus. 
(ii) Om is the first kit made by any government institution for specific testing of 

Omicron. 
(iii) Om is the third to be made by indigenously for specific testing of omicron 

(Corona Virus) 
a. (i) and (ii) only   b. (ii) and (iii) only  c. (i) and (iii) only 
d. (i), (ii) and (iii)   e. Answer not known 
fPo;f;fhZk; thf;fpaq;fspy; vitnay;yhk; rhp? 
(i). kj;jpa kUe;J Muha;r;rp epWtdk; CDRI nfhNuhdh itu]pd; xkpf;uhd; khWghl;il 
Nrhjpf;f cs;ehl;bNyNa “Om” vDk; Mh;b-gprpMh; fz;lwpAk; fUtp cUthf;fpAs;sJ. 
(ii). xkpf;uhdpd; Fwpg;gpl;l Nrhjidf;F ve;j xU muR epWtdj;jhy; cUthf;fg;gl;l 

Kjy; fUtp “Om” 
(iii). cs;ehl;bNyNa jahhpf;fg;gl;l %d;whtJ nfhNuhdh itu]; Nrhjid fUtp “Om” 
a. (i) kw;Wk; (ii) kl;Lk;  b. (i) kw;Wk; (iii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  d. (i)> (ii) kw;Wk; (iii) midj;Jk; 
e. tpil njhpatpy;iy 
 

42. Match the adulterants of the food: 
A. Hydrogen peroxide  1. Shiny appearance 
B. Food colours   2. Milk 
C. Calcium Carbide   3. Fresh look 
D. Carnauba Wax   4. Ripen Bananas 
 A B C D 
a. 1 3 4 2 
b. 2 3 4 1 
c. 3 4 1 2  
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d. 4 1 2 3 
e. Answer not known 
fPo;f;fz;l fyg;glj;ij czNthL ,iz nra;f. 
A. i`l;u[d; nguhf;i]L  1. gsgsg;ghd Njhw;wk; 
B. czT epw%l;bfs;  2. ghy; 
C. fhy;rpak; fhh;igL  3. gRikj; Njhw;wk; 
D. fhh;Ndhgh nkOF  4. thiog;goj;ijg; gOf;f itg;gjw;F 
A B C D 
a. 1 3 4 2 
b. 2 3 4 1 
c. 3 4 1 2  
d. 4 1 2 3 
e. tpil njhpatpy;iy 
 

43. Read the following passage and answer the item that follow. Your answer to this item 
should be based on the passage only. 

Passage 
The creation of the Swadeshi Steam Navigation Company marked a spectacular 
development in the history of the freedom movement. Eager to revive the naval 
tradition of the Tamils to provide practical training in ship building to the people and 
determined to challenge the British Monopoly of maritime traffic, V.O. Chidambaram 
announced his decision in 1906 at Shiyali to created a Navigation Company. 
Which one of the following is best implied in the passage? 
a. The steam Navigation Company earned a good income in those days which 

marked an impressive development. 
b. The creation of Swadeshi Steam Navigation Company stopped the British 

Monopoly of Maritime Trade. 
c. V.O. Chidambaram was dependent on taking any decision with regard to 

Navigation Company affairs. 
d. The restoration of Tamils knowledge in the Naval tradition was the objective of 

the creation of Navigation Company. 
e. Answer not known 
gpd;tUk; gj;jpiag; gbj;J gpd;tUk; tpdhtpw;F gjpyspf;fTk;. ,e;j gFjpf;fhd cq;fs; 
gjpy; gj;jpapd; mbg;gilapy; kl;LNk ,Uf;f Ntz;Lk;. 

gj;jp 
RNjrp ];Bk; NetpNf~d; epWtdj;jpd; cUthf;fk; Rje;jpu ,af;fj;jpd; tuyhw;wpy; xU 
mw;Gjkhd tsh;r;rpiaf; Fwpj;jJ. jkpoh;fspd; fg;gy; fl;Lk; ghuk;ghpaj;ij kPl;nlLf;Fk; 
Mh;tj;jpy; kf;fSf;Ff; fg;gy; fl;Ltjpy; eilKiwg; gapw;rp mspf;fTk;. fly; 
Nghf;Ftuj;jpy; gphpl;b~; VfNghfj;jpw;F rthy; tpLtjpy; cWjpahfTk; t.c.rpjk;guk; 
1906,y; ~pahypapy; xU NetpNf~d; epWtdj;ij cUthf;Ftjw;fhd jdJ Kbit 
mwptpj;jhh;. 
gpd;tUtdtw;wpy; vJ gj;jpapy; rpwg;ghff; Fwpg;gplg;gLfpwJ? 
a. ];Bk; NetpNf~d; epWtdk; me;j ehl;fspy; ey;y tUkhdj;ij <l;baJ. ,J xU 
<h;f;ff;$ba tsh;r;rpiaf; Fwpj;jJ. 
b. RNjrp ];Bk; NetpNf~d; fk;ngdpapd; cUthf;fk; fly; tzpfj;jpy; gphpl;b~; 
VfNghfj;ij epWj;jpaJ. 
c. t. c. rpjk;guk; NetpNf~d; epWtd tptfhuq;fs; njhlh;ghf ve;j KbitAk; 
vLg;gjpy; kw;wth;fisr; rhh;e;jpUe;jhh;. 
d. fg;gy; fl;Lk; ghuk;ghpaj;jpy; jkpoh;fspd; mwpit kPl;nlLg;gJ NetpNf~d; 
epWtdj;ij cUthf;fpajd; Nehf;fkhFk;. 
e. tpil njhpatpy;iy 
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44. Assertion (A): Micro irrigation technology helps to have a higher yield when 
    compared to the traditional irrigation method. 
Reason (R):  Micro irrigation required moderate water supply at regular 
    intervals, reduction of labour expenses, increase the usage of 
    fertilizer the yield. 
a. (A) is true but (R) is false. 
b. (A) is false but (R) is true. 
c. Both (A) and (R) are true but (R) is the correct explanation of (A). 
d. Both (A) and (R) are true but (R) is not the correct explanation of (A). 
e. Answer not known 
$w;W (A) : Ez;zPh; ghrd njhopy;El;gk;> ghukghpa ePh;ghrd Kiwfis tpl 
gaph;fspy; mjpf kf#y; fpilf;f toptif nra;fpwJ. 
fhuzk; (R) : Ez;zPh; ghrd jpl;lj;jpy; msthd ePh; rPuhd fhy ,ilntspapy; 
gha;r;rg;gLfpwJ. gzpahl;fspd; nryitf; Fiwj;J> cug; gad;ghl;Lj;jpwd; 
mjpfhpg;gNjhL tpisr;riyAk; mjpfhpf;fpwJ. 
a. (a) rhp> Mdhy; (R) jtW 
b. (A) jtW> Mdhy; (R) rhp 
c. (A) kw;Wk; (R) rhp> Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; MFk;. 
d. (A) kw;Wk; (R) rhp> Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 
 

45. 94 is divided into two parts in such a way that the fifth part of the first and the eight 
part of the second are in the ration 3 : 4. Then the first part is 
a. 28  b. 30  c. 36  d. 40  e. Answer not known 
Ie;jpd; xU gFjp kw;Wk; vl;bd; xU gFjp vd ,U gFjpahf gphpf;fg;gl;l vz; 94-,d; 
tpfpjk; 3:4 vdpy; mjd; Kjy; gFjp 
a. 28  b. 30  c. 36  d. 40  e. tpil njhpatpy;iy 
 

46. A group of letters are given. A numerical code has been given to each letter. These 
letters have to be unscrambled into a meaning word. Find out the code for the word 
so formed from the following. 

R M E N  B U 

      
1 2 3 4 5 6 

 a. 625314   b. 462531   c. 462315 
 d. 542531   e. Answer not known   

vOj;Jfspd; njhFg;G xd;W fPNo nfhLf;fg;gl;L cs;sJ. xt;nthU vOj;Jf;Fk; 
jdpj;jdpNa vz; FwpaPL toq;fg;gl;Ls;sJ. ,j;njhFg;G vOj;Jfis ,lk;ngah;j;J 
khw;wpaikj;jhy; nghUSs;s thh;j;ijf; fpilf;Fk;. mjd;gb> Gjpjhff; fz;Lgpbj;j 
thh;j;ijf;fhd vz; FwpaPLfisf; fhz;f. 

 R M E N  B U 

      
1 2 3 4 5 6 

 a. 625314   b. 462531   c. 462315 
 d. 542531   e. tpil njhpatpy;iy 
 
47. Match the following:  
 A. Sarkaria Commission    1. Tamil Nadu Govt. 
 B. Rajamannar Committee    2. Akali Dal 
 C. Anandpur sahib Resolution  3. Supreme Court  
 D. Bommai Judgement    4. Union Government  
  A B C D 
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 a. 1 2 3 4 
 b.  4 1 2 3 
 c.  2 1 3 4 
 d.  3 2 4 1 

e. Answer not known 
 nghUj;Jf:  
 A. rh;f;fhhpah Mizak;   1. jkpo;ehL murhq;fk;  
 B. ,uh[kd;dhh; FO   2. mfhyp jsk;  
 C. mde;jg;G+h; rh`pg; jPh;khdk; 3. cr;rePjpkd;wk;  
 D. nghk;ik jPh;g;G   4. kj;jpa murhq;fk; 

A B C D 
 a. 1 2 3 4 
 b.  4 1 2 3 
 c.  2 1 3 4 
 d.  3 2 4 1 

e. tpil njhpatpy;iy.   
 

48. Which one of the following is the right bank tributary of Narmada River? 
a. Hiran   b. Burhner   c. Banjar 
d. Tawa   e. Answer not known 
gpd;tUtdtw;Ws; xd;W eh;kij Mw;wpd; tyJ fiu Jiz MW MFk;. 
a. `pud;   b. gh;dh;   c. gQ;rh;  
d. jth   e. tpil njhpatpy;iy 
 

49. Match the place of excavation with the district it is located:  
 Place of excavation     District  

A. Keezhadi     1. Thoothukudi  
B. Korkai     2. Ariyalur  
C. Gangaikonda Cholapuram  3. Thanjavur  
D. Kurumbanmedu    4. Sivagangai  
 A B C D 
a. 4 3 2 1  
b. 3 2 1 4  
c. 4 1 2 3 
d. 1 4 3 2  
e. Answer not known 

 mfo;thuha;r;rp ,lq;fis mjd; khtl;lj;Jld; nghUj;Jf:  
 mao;thuha;r;rp ,lq;fs;   khtl;lk;  
 A. fPob    1. J}j;Jf;Fb  

 B. nfhw;if     2. mhpaY}h;  
 C. fq;if nfhz;l NrhoGuk; 3. jQ;rhT+h;  
 D. FUk;gd;NkL    4. rptfq;if  

A B C D 
a. 4 3 2 1  
b. 3 2 1 4  
c. 4 1 2 3 
d. 1 4 3 2  
e. tpilnjhpatpy;iy  
 

50. What are looked upon as the “true jewels” for anyone by Thiruvalluvar? 
a. Love and Virtue    b. Humility and Pleasant Words 
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c. Knowledge and Power   d. Family Life and Renounce Life 
e. Answer not known 
xUtUf;Fr; rpwe;j mzpfyd;fshf ,Ug;git vd ts;Sth; vtw;iwf; Fwpg;gpLfpd;whh;? 
a. md;Gk; mwDk;   b. gzpTk; ,d;nrhy;Yk;  
c. mwpTk; Mw;wYk;   d. ,y;ywKk; JwtwKk;  
e. tpil njhpatpy;iy 
 

51. Find out the incorrect pairs:  
 i. Maharashtra  -  Bi-camral legislature  
 ii. Telangana   -  Uni-camral legislature  
 iii. Bihar  -  Uni-camral legislature  
 iv. Andhra Pradesh  -  Bi-camral legislature  
 a. i, ii and iii are incorrect pairs  
 b. i  and ii are incorrect pairs  
 c. ii and iii are incorrect pairs  
 d. All are incorrect  
 e. Answer not known  
 jtwhd ,iziaf; fz;lwpf.  
 i. kfhuh~;buh   - <uit rl;lkd;wk;  

 ii. njYq;fhdh  - Xuit rl;lkd;wk;  
 iii. gPfhh;   - Xuit rl;lkd;wk;  
 iv. Me;jpug;gpuNjrk; - <uit rl;lkd;wk;  
 a. i, ii kw;Wk; iii jtwhd ,iz  
 b. i kw;Wk; ii jtwhd ,iz  
 c. ii kw;Wk; iii jtwhd ,iz  
 d. midj;Jk; jtwhd ,iz  
 e. tpil njhpatpy;iy  

 
52. Match the following countries with their Mars Mission: 

Country  Mission 
A. USA  1. Mangalyan 
B. India  2. Psyche 
C. Japan  3. Zheng He 
D. China  4. TEREX 
 A B C D 
a. 1 4 3 2 
b. 2 1 4 3 
c. 2 4 3 1 
d. 4 1 2 3 
e. Answer not known 
fPo;fz;l ehLfis mjd; khh;]; kp~d; cld; nghUj;Jf. 
ehLfs;   kp~d; 
A. A. v];. V  1. kq;fy;ahd; 
B. ,e;jpah  2. Psyche  
C. [g;ghd;  3. Zheng He 
D. rPdh  4. TEREX 

A B C D 
a. 1 4 3 2 
b. 2 1 4 3 
c. 2 4 3 1 
d. 4 1 2 3 
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e. tpil njhpatpy;iy  
 

53. Which of the following statements about Bhagat Singh are true? 
(i) In 1930, Bhagat Singh attacked the Chittagong armouries. 
(ii) In 1929, Bhagat Singh and B.K. Dutt threw a smoke bomb inside the Central 

Legislative Assembly Hall. 
(iii) In 1925, Bhagat Singh formed Hindustan Republican Army 
a. ii only   b. i and iii only  c. i and ii only 
c. ii and iii only  e. Answer not known 
fPo;f;fhZk; $w;Wfspy; gfj;rpq; njhlh;ghd rhpahd $w;iwf; fz;lwpf: 
i. 1930-,y; gfj;rpq; rpl;lfhq; MAjg; gilj;jsj;ij jhf;fpdhh; 
ii. 1929-,y; gfj;rpq; gp.nf. jj;Jld; ,ize;J kj;jpa rl;lg;Nguit kPJ Fz;L tPrpdhh;. 
iii. 1925-Mk; Mz;L gfj;rpq; ,e;J];jhd; FbauRg; gilia epWtpdhh;. 
a. (ii) kl;Lk; rhp    b. (i) kw;Wk; (iii) kl;Lk; rhp 
c. (i) kw;Wk; (ii) kl;Lk; rhp   d. (ii) kw;Wk; (iii) kl;Lk; rhp  
e. tpil njhpatpy;iy  
 

54. Arrange the source of revenue of government of India for the year 2020-21 in 
descending order. 
(i) GST 
(ii) Personal income tax 
(iii) Excise 
(iv) Corporate tax 
(v) Customs 
a. (i), (ii), (iii), (iv), (v) b. (ii), (iv), (i), (v), (iii) c. (i), (iv), (ii), (iii), (v) 
d. (iv), (i), (iii), (ii), (v) e. Answer not known 
2020-21 Mk; Mz;bw;fhd ,e;jpa murpd; tUtha; %yq;fis ,wq;F thpirapy; 
thpirg;gLj;Jf. 
(i). GST 
(ii). jdp tUkhd thp 
(iii). jPh;it  
(iv) epWtd thp 
(v) Rq;f thp 
a. (i), (ii), (iii), (iv), (v) b. (ii), (iv), (i), (v), (iii) c. (i), (iv), (ii), (iii), (v)  
d. (iv), (i), (iii), (ii), (v) e. tpil njhpatpy;iy  
 

55. The greatest 5 digits number, which, when divided by 3, 5, 8 and 12 have 2 as a 
remainder is  
a. 99972   b. 99958   c. 99960 
d. 99962   e. Answer not known 
xU kpfg; nghpa Ie;J ,yf;f vz;iz 3> 5> 8 kw;Wk; 12-y; tFf;Fk; NghJ> fpilf;Fk; 
kPjp 2 vdpy;> kpfg; nghpa Ie;J ,yf;f vz;zhdJ _________ MFk;. 
a. 99972   b. 99958   c. 99960 
d. 99962   e. tpil njhpatpy;iy  
 

56. The ratio of 43.5: 25 is same as  
a. 2:1  b. 4:1  c. 7:5  d. 7: 10 e. Answer not known 
43.5: 25 vd;gjw;F rkkhd tpfpjk;. 
a. 2:1  b. 4:1  c. 7:5  d. 7: 10 e. tpil njhpatpy;iy  
 

57. The 86th constitutional amendment act, 2002 has introduced the fundamental duty 
under 51 A(K) is  
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a. To provide free and compulsory educational opportunities to all the children 
until they attain the age of fourteen. 
b. To value the rich heritage of our composite culture. 
c. To defend the country and render national service when called upon to do so 
d. To protect the natural environment 
e. Answer not known 
86-tJ murpayikg;G jpUj;jr;rl;lk; 2002-,d;gb 51 A(K),y; ve;j mbg;gil flik 
mwpKfg;gLj;jg;gl;Ls;sJ? 
a. 14 tajpw;F cl;gl;l midj;J Foe;ijfSf;Fk; ,ytr kw;Wk; fl;lha fy;tp 
mspj;jy; 
b. ghuk;ghpa fyg;G fyhr;rhuj;ij kjpj;Jg; ghJfhj;jy; 
c. Njr ghJfhg;gpw;fhf Njitg;gLk;NghJ Njrg;gzpahw;w jahuhapUj;jy; 
d. ,aw;if Rw;Wr;#oiyg; ghJfhj;jy; 
e. tpil njhpatpy;iy  
 

58. How many pairs are correctly matched? 
Party       symbol 
1. All India Trinamool Congress  - Two Flowers and Grass 
2. Nationalist Congress Party   - Clock  
3. Telangana Rashtra Samiti   - Car 
4. Asom Gana Parishad    - Lock and Key 
a. 1 pair   b. 2 pairs   c. 3 pairs 

d. 4 pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; rhpahfg; nghUj;jg;gl;Ls;sd? 
 fl;rp      rpd;dk; 
1. mfpy ,e;jpa jphpzhKy; fhq;fpu]; - ,U G+f;fs; kw;Wk; Gw;fs; 
2. Njrpathj fhq;fpu]; fl;rp  - fbfhuk; 
3. njYq;fhdh uh~;l;hpa rkpjp  - fhh; 
4. m]hk; fz ghp~j;   - G+l;L kw;Wk; rhtp 
a. 1 ,iz   b. 2 ,izfs;  c. 3 ,izfs; 
d. 4 ,izfs;  e. tpil njhpatpy;iy 
 

59. “India will be a land of many faiths equally honoured and respected, but of one 
national outlook” – who said this? 
a. Mahatma Gandhi  b. Jawaharlal Nehru  c. Dr. B. R. Ambedkar 
d. Sir Syed Ahmed Khan e. Answer not known 
“,e;jpah gy;NtW ek;gpf;iffisr; rkkhf Nghw;wp kjpf;fg;gLk; ,lkhf ,Ug;gNjhL xNu 
Njrpaf; fz;Nzhl;lj;ijf; nfhz;bUf;Fk;” vdf; $wpath;. 
a. kfhj;kh fhe;jp  b. [t`h;yhy; NeU  c. Dr. B.R. mk;Ngj;fh; 
d. rh; iraJ mfkJfhd; e. tpil njhpatpy;iy 

 
60. Which of the following statements are correct? 

i. Rajasthan plains is located to the west of Aravalli range 
ii. Punjab-Haryana plains lies to the north-east of the great Indian desert. 

iii. Ganga plains extends from the Yamuna River in the west to Mizoram in the 
east. 

iv. Brahamaputra plains is located mainly in the state of Meghalaya 
a. i, iii and iv only  b. i, and ii only  c. ii and iii only 
d. ii and iv only   e. Answer not known 
fPo;f;fz;ltw;Ws; vit rhpahd thf;fpaq;fs;? 
(i) ,uh[];jhd; rkntsp Muty;yp kiyj;njhlUf;F Nkw;fpy; mike;Js;sJ. 
(ii) gQ;rhg;-`hpahdh rkntspfs; ,e;jpa ghiytdj;jpd; tlfpof;Nf mike;Js;sd. 
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(iii) fq;ifr; rkntsp Nkw;fpy; aKid Mw;wpypUe;j fpof;fpy; kpNrhuk; tiu gutpAs;sJ. 
(iv) gpuk;kGj;jpuh rkntspapd; ngUk;gFjp Nkfhyahtpy; mike;Js;sJ. 
a. (i)> (iii) kw;Wk; (iv)   b. (i) kw;Wk; (ii) kl;Lk; 
c. (ii) kw;Wk; (iii) kl;Lk;  d. (ii) kw;Wk; (iv) kl;Lk; 
e. tpil njhpatpy;iy 
 

61. _______ is the thought in terms of social, educational and    
          psychological well being among various communities  
a. Communal harmony    b. National integration   

c. women empowerment     d. Community health    
e. Answer not known  
gy;NtW rKjhaq;fSf;fpilNaahd> r%f> fy;tp kw;Wk; cstpay; ey tho;T 
njhlh;ghd rpe;jid __________ vdg;gLk;.  
a. rKjha ey;ypzf;fk;     b. Njrpa xUq;fpizg;G  
c. ngz;fs; Kd;Ndw;wk;     d. rKjha eyk;  
e. tpil njhpatpy;iy  
 

62. The three articles which were amended by the Parliament of India to restore state’s 
power to make their own OBC lists are  
a. 334, 342A and 366   b. 338B, 341 and 363 
c. 338B, 342 A and 366  d. 333, 341A and 362 

e. Answer not known  
,ju gpw;gl;l tFg;gpdh; gl;baiy khepyq;fNs jahhpf;Fk; mjpfhuj;ij kPl;gjw;fhf 
,e;jpa ehlhSkd;wj;jpy; nfhz;L tug;gl;l rl;l jpUj;jk;> fPo;fz;l %d;W murikg;Gf; 
$Wfisj; jpUj;jpaJ.  
a. 334, 342A kw;Wk; 366  b. 338B, 341 kw;Wk; 363 
c. 338B, 342 A kw;Wk; 366  d. 333, 341A kw;Wk; 362 
e. tpil njhpatpy;iy  
 

63. In automobile service stations, the vehicles are lifted upward using the Hydraulic Lift, 
which works based on  
a. Newton’s First law  b. Newton’s Second law  c. Pascal’s law 

d. All the above   e. Answer not known 
thfdq;fs; gOJ ghh;f;Fk; gzpkidfspy; thfdq;fis cah;j;j ve;j tpjpapd; 
mbg;gilapy; ,aq;Fk; ePhpay; cah;j;jpfs; gad;gLj;jg;gLfpd;wd? 
a. epA+l;ldpd; Kjy; tpjp   b. epA+l;ldpd; ,uz;lhk; tpjp 
c. gh];fy; tpjp    d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 
 

64. Which of the following equation for force is incorrect? 

a. F = m x a   b. F = ∆P x t   c. F = 
𝑚(𝑣−𝑢)

𝑡
 

d. F = 
∆𝑃

𝑡
   e. Answer not known 

fPo;f;fhZk; rkd;ghLfSs; vJ tpirf;fhd rkd;ghby;iy? 

a. F = m x a   b. F = ∆P x t   c. F = 
𝑚(𝑣−𝑢)

𝑡
 

d. F = 
∆𝑃

𝑡
   e. tpil njhpatpy;iy 

 
65. Choose the correct statement: 

i. The Palayakkarars system was in practice in the Kakatiya kingdom. 
ii. Puli Thevar recaptured Nerkattumseval in 1764 after the death of khan sahib. 
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iii. Yusuf khan was negotiating with the Palayakkarars, without informing the 
company administration was charged with treachery and hanged in 1764. 

iv. Ondiveeran led one of the army units of Kattabomman. 
a. i, ii and iv are correct   b. i, ii, and iii are correct 

c. iii and iv are correct   d. i and iv are correct 
e. Answer not known 
rhpahd $w;iwj; Njh;T nra;aTk;. 
(i) ghisaf;fhuh; Kiw fhf;fj;jpag; Nguurpd; eilKiwapy; ,Ue;jJ. 
(ii) fhd; rhfpg;gpd; ,wg;gpw;Fg;gpd; G+ypj;Njth; new;fl;Lk; Nrtiy 1764-,y; kPz;Lk; 
ifg;gw;wpdhh;. 
(iii) fk;ngdp eph;thfj;jpw;Fj; jfty; mspf;fhky; ghisaf;fhuh;fNs Ngr;Rthh;j;ijapy; 
<Lgl;ljhy; A+rg;fhd; JNuhfp vd;W Fw;wk; Rkj;jg;gl;L 1764 ,y; J}f;fpyplg;gl;lhh;. 
(iv) xz;btPud; fl;lnghk;kdpd; gilg;gphpTfspy; xd;iwj; jiyikNaw;W topelj;jpdhh;. 
a. (i), (ii) kw;Wk; (iv) Mfpait rhp  b. (i), (ii) kw;Wk; (iii) Mfpait rhp 
c. (iii) kw;Wk; (iv) Mfpait rhp  d. (i) kw;Wk; (iv) Mfpait rhp 
e. tpil njhpatpy;iy 
  

66. Assertion (A) : RBI controls the supply of money in the economy. 
Reason (R) : It wants to stabilize exchange rate and control inflation. 
a. (A) is false, (R) is true 
b. (A) is true but (R) is false 
c. (A) is true, but (R) is not the correct explanation of (A) 
d. Both (A) and (R) are true, (R) is the correct explanation of (A) 
e. Answer not known 
$w;W (A): ,e;jpa hprh;t; tq;fp ehl;bd; nghUshjhu gz toq;fiyf; 
   fl;Lg;gLj;JfpwJ. 
fhuzk; (R): me;epa nryhtzp ghpth;j;jid tpfpjj;ij epiyg;gLj;jTk;> 
   gztPf;fj;jpidf; fl;Lg;gLj;jTk; tpUk;GfpwJ. 
a. (A) jtW; (R) rhp 
b. (A) rhp; Mdhy; (R) jtW 
c. (A) rhp; Mdhy; (R) vd;gJ (A) tpw;fhd rhpahd tpsf;fky;y 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> (R) vd;gJ (A) tpw;fhd rhpahd tpsf;fkhFk;. 
e. tpil njhpatpy;iy 
 

67. A worker was engaged for a certain number of days. But he remained absent for some 
days and was paid Rs. 1,387. Had he worked all the days, he would have earned Rs. 
1,752. How many days did he work for? 
a. 19  b. 21  c. 24  d. 29  e. Answer not known 
xUth; xU Fwpg;gpl;l Ntiyf;fhf gzpakh;j;jg;gl;lhh. Mdhy; mth; rpy ehl;fs; 
Ntiyf;F tuhky;> Ntiy nra;j ehl;fSf;fhd Cjpakhf &. 1>387 ngw;whh;. mth; 
midj;J ehl;fspYk; Ntiy nra;jpUe;jhy; Cjpakhf &. 1752 ngw;wpUg;ghh; vdpy; 
mth; Ntiy nra;j ehl;fisf; fhz;f. 
a. 19  b. 21  c. 24  d. 29  e. tpil njhpatpy;iy 
 

68. If product of given three numbers is 1875 and their HCF is 5, then their LCM is  
a. 75  b. 125  c. 375  d. 450  e. Answer not known 
nfhLf;fg;gl;l %d;W vz;fspd; ngUf;fw;gyd; 1875 kw;Wk; mtw;wpd; kP.ngh.t-5 vdpy; 
mtw;wpd; kP.ngh.k 
a. 75  b. 125  c. 375  d. 450  e. tpil njhpatpy;iy 
 

69. Which is in-correctly matched? 
a. Article 14  - Equality before law 
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b. Article 17  - Equality of opportunity in matters of public employment 
c. Article 21(A) - Right to elementary education 
d. Article 26  - Freedom to manage religious affairs 
e. Answer not known 
jtwhf nghUe;jpAs;sJ vJ? 
a. murpay; mikg;G gphpT 14 - rl;lj;jpd; Kd; midtUk; rkk; 
b. murpay; mikg;G gphpT 17 - nghJ Ntiytha;g;Gfspy; rktha;g;G 
c. murpay; mikg;G gphpT 21 (A) - njhlf;f fy;tp ngWk; chpik 
d. murpay; mikg;G gphpT 26 - rka tptfhuq;fis eph;tfpf;Fk; chpik 
e. tpil njhpatpy;iy 
 

70. The directive principles of state policy of Indian constitution resembles. 
a. Magna Carta, 1215   b. Charter Act, 1813   
c. Instrument of Instructions, 1935 d. Regulating Act, 1773 
e. Answer not known 
,e;jpa murpayikg;G rhrdj;jpd; topfhl;L newpKiwfs; _____ Nghy; Njhw;wk; 
mspg;gitahFk;. 
a. khf;dh rhrdk;> 1215   b. gl;lar; rl;lk;> 1813 
c. mwpTWj;jy; nraw;fUtp> 1935  d. xOq;FgLj;Jk; rl;lk;> 1773 

e. tpil njhpatpy;iy 
 

71. Christianity was first brought to India by ____ an apostle of Christ in the first century 
A.D. 
a. Saint Peter   b. Saint John   c. Saint Matthew  
d. Saint Thomas  e. Answer not known 
fp.gp. Kjyhk; E}w;whz;by; fpUj;Jt kjk; ,e;jpahtpy; ,NaRtpd; rPluhd; ______ 
vd;gtuhy; nfhz;L tug;gl;lJ. 
a. Gdpj gPl;lh;  b. Gdpj [hd;  c. Gdpj Nkj;A+ 
d. Gdpj jhk];  e. tpil njhpatpy;iy 
 

72. Arrange the following languages in the chronological order with regard to their year 
of being granted the classical language status.  

 1. Sanskrit  
 2. Telugu  
 3. Malayalam  
 4. Tamil  
 a. 2, 3, 4, 1  b. 3, 1, 4, 2  c. 4, 2, 3, 1   d. 4, 1, 2, 3  
 e. Answer not known  

fPo;f;fz;l nkhopfis nrk;nkhop jFjpg;ngw;w Mz;Lfspd; mbg;gilapy; 
thpirg;gLj;Jf.  
1. rk];fpUjk;  
2. njYq;F  
3. kiyahsk;  
4. jkpo;  
a. 2, 3, 4, 1  b. 3, 1, 4, 2  c. 4, 2, 3, 1   d. 4, 1, 2, 3  
e. tpil njhpatpy;iy  
 

73. Arrange the districts in descending order of having forest cover  
i. Dharmapuri  

ii. Erode 
iii. Vellore 
iv. Coimbatore  
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a. i, ii, iii, iv   b. ii, iv, i, iii   c. iv, i, ii, iii 
d. i, iv, ii, iii   e. Answer not known 
khtl;lq;fis> mit nfhz;Ls;s fhLfspd; msitf; nfhz;L ,wq;Fthpirapy; 
vOJf. 
i. jh;kGhp 
ii. <NuhL 
iii. NtY}h; 
iv. Nfhak;Gj;J}h; 
a. i, ii, iii, iv   b. ii, iv, i, iii   c. iv, i, ii, iii 
d. i, iv, ii, iii   e. tpil njhpatpy;iy 
 

74. Arrange the following in chronological order with respect to their Chief Ministership 
in Madras Presidency  
1. P.T. Rajan  
2. A. Subburayulu Reddiar  
3. P. Munusamy Naidu 
4. C. Rajaji  
5. P. Subbarayan  
a. 2, 4, 3, 5, 1  b. 2, 5, 3, 1, 4   c. 5, 3, 1, 2, 4   d. 3, 1, 5, 2, 4  
e. Answer not known  
fhythpirg;gb kjuh]; khfhzj;jpd; Kjyikr;rh;fis thpirg;gLj;Jf.  
1. gp.b. uh[d;  
2. V. Rg;GuhAY nul;bahh;  
3. gp. KDrhkp ehAL  
4. rp. uh[h[p 
5. gp. Rg;guhad;  
a. 2, 4, 3, 5, 1  b. 2, 5, 3, 1, 4   c. 5, 3, 1, 2, 4   d. 3, 1, 5, 2, 4  
e. tpil njhpatpy;iy  
 

75. Which of the following statements are true? 
i. Zinc blende is concentrated by magnetic separation process. 

ii. Haematite is concentrated by gravity separation process. 
iii. Alumunium is produced by the electrolytic reduction of fuse alumina 
iv. Matte is a mixture of cupric sulphide and ferrous sulphide. 

a. i and ii   b. i and iv   c. ii and iii 

d. ii and iv   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahd $w;Wfs; vit? 
(i) rpq;f; g;sd;l; fhe;jg; gphpg;G Kiwapy; mlh;g;gpf;fg;gLfpwJ. 
(ii) N`kill; GtPaPh;g;G Kiwapy; mlh;g;gpf;fg;gLfpwJ. 
(iii) cUfpa mYkpdhit kpd;dhw; gFg;G Kiwapy; xLf;fp mYkpdpa ngwg;gLfpwJ. 
(iv) Nkl; vd;gJ Fg;hpf; ry;igL kw;Wk; ngh;u]; ry;igL Mfpatw;wpd; fyitahFk;. 
a. (i) kw;Wk; (ii)  b. (i) kw;Wk; (iv)  c. (ii) kw;Wk; (iii) 
d. (ii) kw;Wk; (iv)  e. tpil njhpatpy;iy 
 

76. Which of the following was founded by Rettaimalai Srinivasan? 
a. Sakya Buddhist Society  
b. Advaidananda Sabha  
c. All India Depressed Classes Association  
d. Adi Dravida Mahajana Sabha  
e. Answer not known  
gpd;tUtdw;Ws; ve;j rig ,ul;ilkiy rPdpthrdhy; Jtq;fg;gl;lJ?  
a. rhf;fpa ngsj;j rq;fk;  
b. mj;itjhde;j rgh  
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c. mfpy ,e;jpa xLf;fg;gl;Nlhh; rq;fk;  
d. Mjp jpuhtpl kfh[d rig  
e. tpil njhpatpy;iy  
 

77. Match the following: 
Indus Sites    Excavated by 
A. Chanhu-Daro   1. Suraj Bhan 
B. Lothal    2. N. G. Majumdar 
C. Banavali    3. S. R. Rao 
D. Mitathal    4. Bisht  
 A B C D 
a.  2 1 4 3 
b.  2 3 4 1 
c.  1 3 2 4 
d.  1 4 3 2 
e. Answer not known 
nghUj;Jf: 
rpe;J rkntsp efuq;fs;  mfo;thuha;r;rpahsh; 
A. rd;̀ _-jhNuh   1. #u[; ghd; 
B. Nyhj;jy;    2. vd;.[p. k[_k;jhh; 
C. gdhtsp    3. v];.Mh;. uht; 
D. kpl;lhjy;    4. gp~;l; 

A B C D 
a.  2 1 4 3 
b.  2 3 4 1 
c.  1 3 2 4 
d.  1 4 3 2 
e. tpil njhpatpy;iy 

 
78. Arrange the following plans in chronological order. 

(i). Gandhian Plan  
(ii). Bombay Plan  
(iii). Jawaharlal Nehru Plan 
(iv). Vishveshwarya Plan 
a. (i), (ii), (iii), (iv)  b. (iv), (iii), (ii), (i)  c. (i), (ii), (iv), (iii) 
d. (ii), (i), (iv), (iii)  e. Answer not known 
fPo;f;fz;l jpl;lq;fis fhyKiwg;gb thpirg;gLj;Jf. 
(i) fhe;jpaj; jpl;lk; 
(ii) ghk;Ng jpl;lk; 
(iii) [t`h;yhy; NeU jpl;lk; 
(iv) tp];NtRtua;ah jpl;lk; 
a. (i), (ii), (iii), (iv)  b. (iv), (iii), (ii), (i)  c. (i), (ii), (iv), (iii) 
d. (ii), (i), (iv), (iii)  e. tpil njhpatpy;iy 
 

79. Two dice are rolled together find the probability of getting a doublet or sum of faces 
as 4 
a. 1/9  b. 3/9  c. 4/9  d. 2/9  e. Answer not known 
,uz;L gfilfs; xNu Neuj;jpy; cUl;lg;gLk;nghOJ ,uz;bYk; xNu Kfk; my;yJ 
$Ljy; 4 fpilf;f epfo;jfT fhz;f. 
a. 1/9  b. 3/9  c. 4/9  d. 2/9  e. tpil njhpatpy;iy 
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80. Kala and Vani are friends. Kala says, “today is my birthday” and she asks Vani, “when 
will you celebrate your birthday?” Vani replies, “today is Monday and I celebrated my 
birthday 75 days ago”. Find the day when Vani celebrated her birthday? 
a. Tuesday   b. Wednesday  c. Thursday 
d. Friday   e. Answer not known 
fyh kw;Wk; thzp ,UtUk; ez;gh;fs;. “,d;W vdJ gpwe;j ehs;” vd fyh $wpdhs;. 
thzpaplk; “cdJ gpwe;j ehis vg;NghJ eP nfhz;lhLtha;?” vdf; Nfl;lhs;. mjw;F 
thzp “,d;W jpq;fl;fpoik> ehd; vd;Dila gpwe;j ehis 75 ehl;fSf;F Kd; 
nfhz;lhbNdd;” vd gjpyspj;jhs;. Thzpapd; gpwe;jehs; ve;jf; fpoikapy; te;jpUf;Fk; 
vdf; fhz;f. 
a. nrt;tha; fpoik  b. Gjd; fpoik  c. tpahod; fpoik 
d. nts;sp fpoik  e. tpil njhpatpy;iy 
 

81. There is 60% increase in an amount in 6 years at simple interest. Then the compound 
interest of Rs. 12, 000 after 3 years at the same rate is  
a. Rs. 2,160   b. Rs. 3,120   c. Rs. 3,972 

d. Rs. 6,240   e. Answer not known 
xU Fwpg;gpl;l mry; jdptl;b tPjj;jpy; 6 Mz;Lfspy; 60% mjpfhpf;fpwJ. mNj tl;b 
tPjj;jpy; &. 12>000-f;F 3 Mz;Lfspy; fpilf;Fk; $l;L tl;b. 
a. Rs. 2,160   b. Rs. 3,120   c. Rs. 3,972 
d. Rs. 6,240   e. tpil njhpatpy;iy 
 

82. The population of a village increases at the rate of 7% every year. It the present 
population is 90,000. The population after two years is  
a. 96,300   b. 1,03,000   c. 1,00,000 
d. 1,03,041   e. Answer not known  
xU fpuhkj;jpd; kf;fl;njhif Mz;nlhd;Wf;F 7% tPjk; mjpfhpf;fpwJ. ,g;nghOJ 
kf;fs; njhif 90>000 vdpy; 2 Mz;LfSf;Fg; gpwF mf;fpuhkj;jpd; kf;fs; njhif. 
a. 96,300   b. 1,03,000   c. 1,00,000 
d. 1,03,041   e. tpil njhpatpy;iy 
 

83. Extra copy of chromosome 21 results in 
a. Sickle cell anaemia  b. Down syndrome  c. Kline Felter syndrome 
d. Thalassemia   e. Answer not known 
FNuhNkhNrhk; 21-,y; xU efy; $Ljyhf ,Ug;gpd; mjdhy; Vw;gLtJ 
a. mhpths; ,uj;j Nrhif    b. lTd; rpd;l;Nuhk; 
c. f;iyd;/ngy;lh; rpd;l;Nuhk;   d. jyrPkpah 
e. tpil njhpatpy;iy 
 

84. Which of the following is correctly paired? 
1. Pattadakkal - Chalukyas of Vatapi 
2. Elephanta caves  - Ashoka  
3. Ellora caves - Rashtrakutas 
4. Mamallapuram - Narasimha Varma I 
a. 1, 3, 4 are correct  b. 2, 3, 4 are correct  c. 4, 3, 2 are correct 
d. 4, 1, 2 are correct  e. Answer not known 
rhpahd ,iziaj; Njh;T nra;f. 
1. gl;llf;fy;   - thjhgp rhSf;fpah; 
2. vy;ngz;lh Fiffs; - mNrhfh; 
3. vy;Nyhuh Fiffs; - uh~;buf;$lh;fs; 
4. khky;yGuk;   - Kjyhk; eurpk;kth;kd; 
a. 1> 3> 4 rhpahdJ  b. 2> 3> 4 rhpahdJ  c. 4> 3> 2 rhpahdJ 
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d. 4> 1> 2 rhpahdJ  e. tpil njhpatpy;iy 
 
85. Match the Geographical Indication Tag (CI tag) product with its place:  
  Product    Place  

A. Turmeric    1. Madurai  
B. Mat     2. Erode  
C. Painting    3. Pattamadai  
D. Sungudi    4. Thanjavur  

A B C D 
 a. 1 2 3 4 
 b. 2 3 4 1  
 c. 1 3 2 4 
 d.  2 1 4 3 
 e. Answer not known  
 Gtprhh; FwpaPL (GI tag) nghUl;fis mjd; ,lj;Jld; nghUj;Jf:  
  nghUs;    ,lk;  
 A. kQ;rs;     1. kJiu  
 B. gha;     2. <NuhL  
 C. tz;zg;G+r;R (xtpak;)  3. gj;jkil  
 D. Rq;Fb    4. jQ;rhT+h;  

A B C D 
 a. 1 2 3 4 
 b. 2 3 4 1  
 c. 1 3 2 4 
 d.  2 1 4 3  
  
86. _______ is not a part of the Tamil Nadu’s First Multi-Model Logistics  

        Park  
 a. Chennai Port Authority  
 b. Tamil Nadu Industrial Development Corporation  
 c. National Highways Logistics Management Limited  
 d. Chennai Metropolitan Developmental Authority 
 e. Answer not known  

jkpo;ehl;bd; KjyhtJ gy;Kidak; ruf;Fg; Nghf;Ftuj;Jg; G+q;fhtpy; ___________ 
mikg;gpw;Fj; njhlh;G ,y;iy  
a. nrd;idj; JiwKff; fofk;  
b. jkpo;ehL njhopy; tsh;r;rp epWtdk;  
c. Ne~dy; i`Nt]; yh[p];bf;]; NkNd[;nkd;l; ypkpnll; 

d. nrd;id ngUefu tsh;r;rpf; FOkk; 
e. tpil njhpatpy;iy  

 
87. The Winner of ‘Jnanpith award’ for the year 2021 was  
       a. Damodar Mauzo   b. Krishna sobti   c. Amitav Ghosh  
 d. Nilmani Phookan  e. Answer not known  

2021 Mz;bw;fhd ‘QhdgPl tpUij’ ntd;wth; ahh;? \ 
a. jhNkhjh; nksNrh  b. fpU~;zh Nrhg;jp  c. mkpjt; Nfh~;   

 d. epy;kdp G+f;fd;   e. tpil njhpatpy;iy  
 
88. The gas present in the pores of soft finely stratified sedimentary rock is  

a. Shale gas   b. Gobar gas   c. Water gas 
d. Oxygen gas  e. Answer not known 
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nkd;ikahd tz;ly; ghiw mLf;Ffspd; Jizfspy; cs;s thAtpd; ngah; vd;d? 
a. N~y; thA  b. Nfhgh; thA  c. ePh; thA 
d. Mf;rp[d; thA  e. tpil njhpatpy;iy 
 

89. Match the class of compound with it functional group 
Compound     Functional group 
A. Alcohol    1. -COOH 
B. Aldehyde    2. -OH 
C. Ketone     3. -CHO 
D. Carboxylic acid   4.   O 
          || 

           -C- 
  A B C D 
 a 2 1 3 4 
 b.  2 3 1 4 
 c.  3 2 4 1 
 d.  2 3 4 1 
 e. Answer not known 

$l;Lg; nghUis mjd; tpidgL njhFjpAld; ,iz 
$l;Lg;nghUs;   tpidgL njhFjp 
A. My;f`hy;  1. -COOH 
B. My;bi`L  2. -OH 
C. fPl;Nlhd;   3. -CHO 
D. fhh;ghf;]pypf; mkpyk; 4.   O 
         || 
         -C- 

  A B C D 
 a 2 1 3 4 
 b.  2 3 1 4 
 c.  3 2 4 1 
 d.  2 3 4 1 

e. tpil njhpatpy;iy 
 
90. Identify the wrong statements from the following. 

a. Shivaji’s guardian was Dadaji Kondadev 
b. The coronation of Shivaji was celebrated with great splendour at Rajgosh. 
c. Shivaji’s soldiers plundered Surat in 1665. 
d. In 1674, Shivaji crowned himself by assuming the title of “Chatrapati”. 
e. Answer not known 
fPo;f;fz;ltw;Ws; jtwhd $w;iwf; fz;lwpf. 
a. rpth[papd; ghJfhtyh; jhjh[p nfhz;lNjt;. 
b. rpth[p uh[;Nfh~; Nfhl;ilapy; Kb#l;bf; nfhz;lhh;. 
c. rpth[papd; gil tPuh;fs; #uj;ij 1665y; #uj;ij 1665y; #iwahbdhh;. 
d. 1674-,y; rj;ugjp vDk; ngaupy; Kb#bdhh; 
e. tpil njhpatpy;iy 
 

91. Choose the correct statements: 
1. Bharathi edited a Tamil weekly ‘India’. Which became the voice of the moderates. 
2. Bharathi participated the Surat session of congress in 1907. 
3. Chakravartini, Swadesamitran Newspapers was edited by Bharathi. 
4. G. Subramaniya Iyer Published newspaper The Hindu. 
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a. 1 and 2 only correct  b. 1, 2 and 3 only correct 
c. 2 and 3 only correct  d. 2, 3 and 4 only correct 

e. Answer not known 
rhpahd $w;Wf;fisf; fz;lwpf. 
1. ghujpapd; ‘,e;jpah’ thu ,jo; kpjthj Njrpathjpfspd; Fuyhfj; jpfo;e;jJ. 
2. 1907-,y; #uj; fhq;fpu]; khehl;by; ghujp fye;Jnfhz;lhh;. 
3. rf;uth;j;jpdp> RNjrkpj;ud; Nghd;w gj;jphpiffspy; ghujp gzpahw;wpdhh;. 
4. jp ,e;J gj;jphpf;ifia ntspapl;lth; G. Rg;ukzpa Iah;. 
a. 1 kw;Wk; 2 kl;Lk; rhp   b. 1> 2 kw;Wk; 3 kl;Lk; rhp 
c. 2 kw;Wk; 3 kl;Lk; rhp   d. 2> 3 kw;Wk; 4 kl;Lk; rhp 
e. tpil njhpatpy;iy 
 

92. Which of the following statement is/are correct about the NITI Ayog? 
I. All Chief Ministers of states except Union Territories with legislature are part 

of Governing Council. 
II. The Prime Minister of India is the Chairperson of the NITI Ayog. 
III. Finance Minister of India acts as Vice Chairman. 
a. only II and III  b. only II   c. only I 
d. only I and II  e. Answer not known 
fPo;tUk; $w;Wfspy; ‘epjp mNahf;’ gw;wpa ve;jf; $w;W rhpahdJ?  

 I. midj;J khepy Kjy;th;fSk;> rl;lkd;wk; nfhz;l A+dpad;     
       gpuNjrq;fs; jtpu MSk; FOtpy; mq;fk; tfpf;fpd;wd.  
 II. ,e;jpag; gpujkh; ‘epjp mNahf;fpd;’ jiyth; Mthh;  
 III. ,e;jpa epjpaikr;rh; Jiz jiytuhf nray;gLfpwhh;.  
 a. II kw;Wk; III kl;Lk;   b. II kl;Lk;  
 c. I kl;Lk;     d. I kw;Wk; II kl;Lk;   
 e. tpil njhpatpy;iy   

 
93. Find the missing number: 

49, 121, 169, ?, 361 
a. 225   b. 256  c. 289  d. 324  e. Answer not known 
tpLgl;l vz;izf; fz;Lgpb 
49, 121, 169, ?, 361 
a. 225   b. 256  c. 289  d. 324  e. tpil njhpatpy;iy 
 

94. Find the area of a rectangle one of whose sides is 5cm and diagonal 13 cm. 
a. 74 cm2  b. 96 cm2 c. 60 cm2 d. 56 cm2 e. Answer not known 
xU nrt;tfj;jpd; xU gf;fk; 5 nr.kP. kw;Wk; mjd; %iytpl;lk; 13 nr.kP. vdpy;> 
nrt;tfj;jpd; gug;G fhz;f. 
a. 74 nr.kP2   b. 96 nr.kP2   c. 60 nr.kP 
d. 56 nr.kP2   e. tpil njhpatpy;iy 
 

95. A farmer borrowed Rs. 20,000 from a money lender at 4.5% per annum in simple 
interest. The amount paid by him to clear the loan after the period of 5 years is  
a. Rs. 4,500  b. Rs. 15,500  c. Rs. 17,000  d. Rs. 24,500 

e. Answer not known 
xU tptrhap &. 20>000-I Mz;nlhd;Wf;F 4.5% jdp tl;bapy; xUthplkpUe;J fldhf 
ngWfpwhh;. Ie;J Mz;LfSf;Fg; gpd; mth; KOtJk; flid milf;f nrYj;j Ntz;ba 
njhif. 
a. Rs. 4,500  b. Rs. 15,500  c. Rs. 17,000  d. Rs. 24,500 
e. tpil njhpatpy;iy 
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96. The difference between the simple interest received from two different sources on Rs. 
1500 for 3 years is Rs. 13.50. The difference between their rate of interest is  
a. 0.1%  b. 0.2%  c. 0.3%  d. 0.4% 
e. Answer not known 
&. 1>500-f;F 3 Mz;Lfspy; ,U ntt;NtW ,lq;fspy; ,Ue;J fpilj;j jdptl;bfspd; 
tpj;jpahrk; &. 13.50 vdpy; tl;b tPjq;fspd; tpj;jpahrk; 
a. 0.1%  b. 0.2%  c. 0.3%  d. 0.4% 
e. tpil njhpatpy;iy 
 

97. Match the following: 
A. Varahamihira   1. Physician  
B. Kalidasa   2. Lexicographer 
C. Amarasimha  3. Sanskrit poet  
D. Dhanvantri  4. Astronomer  
 A B C D 
a.  4 3 1 2 
b.  4 2 1 3 
c.  4 3 2 1 
d.  3 4 1 2 
nghUj;Jf. 
A. tuhfkpfpuh;  1. kUj;Jth; 
B. fhspjhrh;   2. Mfuhjpapay; Mrphpah; 
C. mkurpk;`h  3. rk];fpUj Gyth; 
D. jd;te;jphp   4. thdpay; mwpQh; 

A B C D 
a.  4 3 1 2 
b.  4 2 1 3 
c.  4 3 2 1 
d.  3 4 1 2 
e. tpil njhpatpy;iy 

 
98. Which among the following is/are wrong? 

Political rights include  
1. Rights to vote  
2. Right to hold public office  
3. Not to criticize to government  
a. 1 and 2   b. 1 and 3   c. 2 and 3 
d. 3 only   d. Answer not known 
fPo;f;fz;l $w;Wfspy; vJ/vit jtwhdJ? 
murpay; chpikfs; cs;slf;fpaJ. 
1. thf;fspf;Fk; chpik 
2. muRg; gzpfspy; gjtp tfpf;Fk; chpik 
3. muir tpkh;rpf;ff; $lhJ. 
a. (1) kw;Wk; (2)  b. (1) kw;Wk; (3)  c. (2) kw;Wk; (3) 
d. (3) kl;Lk;   e. tpil njhpatpy;iy  

 
99. When was the first National Education Policy formed?  
 a. 1964  b. 1946  c. 1968  d. 1986  
 e. Answer not known  
 Kjy; Njrpa fy;tpf; nfhs;if vg;NghJ cUthf;fg;gl;lJ?  
 a. 1964  b. 1946  c. 1968  d. 1986  
 e. tpil njhpatpy;iy 
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100. Assertion (A) : According to Health and Family Welfare Policy note 2021 – 2022, the 

state government has effectively responded to the challenges of Covid – 19 without 
losing focus on maternal and child care, health initiatives and services and other 
communicatable diseases and non-communicatable diseases.  
Reason (R) : The doctor to patient ratio in Tamil Nadu is one of the highest in India 

 a. (A) is true, (R) is false  
 b. Both (A) and (R) are true, (R) is the correct explanation of (A) 
 c. (A) is false (R) is true  
 d. Both (A) and (R) are true, but (R) is not the correct explanation of (A) 
 e. Answer not known  

typAWj;jy; (A): Rfhjhuk; kw;Wk; FLk;g eyf; nfhs;iff; Fwpg;G 2021 – 20222-,d; 
gb Nfhtpl; njhw;W rthypd; NghJ jkpof muR kpfTk; rpwg;ghf jdJ ftdj;ij jha; 
kw;Wk; Foe;ij guhkhpg;G Rfhjhu Kaw;rpfs; kw;Wk; Nrit kw;Wk; gpw njhw;W Neha;fs; 
kw;Wk; njhw;whjNeha;fspy; jpwk;gl Nritahw;wpaJ.  
fhuzk; (R):,e;jpahtpy; kUj;JtUf;Fk;> Nehahspf;Fkhd tpfpjk; kpf mjpfk; 
cs;stw;wpy; jkpo;ehLk; xd;W. 

 a. (A) cz;ik (R) jtW  
 b. (A) kw;Wk;; (R) ,uz;Lk; cz;ik (R) vd;gJ (A) ,d; rhpahd tpsf;fk;  
 c. (A) kw;Wk; (R) ,uz;Lk; cz;ik> Mdhy; (R)vd;gJ (A)-,d; rhpahd tpsf;fk; my;y  
 d. tpil njhpatpy;iy  
 
 


